Solution
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where x = —22 and y=—2
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Solution

b) They areinvariant to translation




Solution

m,,=1+2=3 U ;:%
m,,=24+32= 8y b

My, =134+ 22 = 5|O 9:%

m, =(2- 8/3)*(1- 5/3)* 4+ (3- 8/3)*(2- 5/3)* R =18/81

o =1+2=3 U » }/

X =
10—3>1+4><2 11y b
Moy =24+32=8 | y= /

= (3- 11/3)%(2- 8/3)% X+ (4- 11/3)%(3- 8/3)° 2 =18/81




Solution

d)
My, =1+2=3

m,, =2X+(2+/2) % = 6+2\/_y b
m,, =1X+1 =3 p

m, =(2- 6+2*f) 2(1- 1)° A+ (2+/2 - 2)2(1- 1252 = 0




Solution

€)  Thecentral moments m, , are aways
Invariant under translation whereas they are
not Invariant under rotation




